DECIMALS

Q1: Place the following in an ascending order
a. 0.67, 0.074, 0.802
b. 0.1, 0.09999, 0.21
c. 0.32, 0.39, 0.34

d 14, 3.1, 225

Q2: Round the following to the nearest
- Tenth

a.6.23 =

b. 5.88 =

c. 4.56 =

d. 9.71 =
*Hundredth

a.7.576 =

b. 12.0216 =

c.3.785 =

d. 20.1073 =



* Thousandth
a. 1.3498 =
b. 35.01631 =
c. 112.97867 =

d.2.1224 =

Q3: Addition
a.7.34+10.21 =
b.3.25 + 0.06 =
c.1.99+9.01 =

d. 20.37 + 55.98 =

Q4: Subtract
a.32.19-7.81=
b.8.71-6.15 =
c.23.15-9 =

d. 7.97 -7.46 =



Q5 : Multiply
a. (0.007)(0.00485) =
b. (0.98)(0.3) =
c. (3.62)(5.01) =

d. (10.57)(24.5) =



